G OB I Intelligent Designs 2000 Corp.

RAGCKS Denver, Colorado 80211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP TJ/ TJU WRANGLER REAR LADDER
INSTALLATION INSTRUCTIONS

Cidelines:

When using Load Carriers and A ccessories, the user must understand the precautions. The points listed below
will assist youin using the rack foarrier system and will encourage safety.

* For quality fits and safty, use ondy the recommended rack or accessory. Do not assume an accessory will £it,
always check with dealer when obtaitdng new accessories. Use only approved accessoties on load carriers.
Usityz other brands will woid oo warrenty.

# Nlake sure all knobs, bolts, screws, strapes, and locks are fintndy attached, tightened and locked before every tip.
Enobs, bolts, screws, straps, and locks must be periodically inspected for signs of weat, cotrosion, and fatigue,
Check your load at stops during the trip to insure continued fastening security,

* Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
width and height of your cargo since low clearance hranches, bridges, and parking garages can affect the load
&1 cargo will affect the vehicle's driving behawvior. Newer deive with sty lock, know, of rack in an open or
utdocked pozition. Alllongloads such as, but not limited to saithoards, sufhoards, kayaks, canoes, and
humber st be tied down front and rear to the bumpers or tow hooks, of the vehicle.

# Femove yvour rack accessoties when they are not in use, before inteting car washes, prior to taking in your
vehicle for service, and whenever clearance tmay be an issue.

¢ Alllocks must be turned and moved periodically to insure smooth operation. Use graphite or similar diy
lubricant to help thiz. Locks are designed to deter wvandalism and theft. Femowe valuable gear if wour
vehicle iz unattended for an extended period. Place atleast one key in the glove compattment.

# For safety to your wveldele and rack systern, obey all posted speed limits and traffic cautions. Adapt your
speed to the conditions of the road and the load being cartied.

# Do not uge load carriers and accessories for purposes other than those for which they were desizgned. Do not

exceed theit cartying capacity.

« Consult with your dealer if wou have any questions regarding the operations and limdts of thiz product.
Rewview all instructions carefially.

CAUTION: USE ANTI-SEIZE LUBRICANT ON ALL SCREWS

Installation Instructions for GOBI JEEP TJ/"TJU REAR LADDER FarIvo. GGITIL SHEET | oF 7




GOBI/

Intelligent Designs 2000 Coxp.
Denver, Colorado 80211
BACHS, wuw, COBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP TJ/ TJU WRANGLER REAR LADDER
INSTALLATION INSTRUCTIONS

Included m kit
Letter Description Location Quantity
A GOBI TT/ TIU WRANGLER EEAR LADDER Ilain oz 1
- Strapped to
E GOBI LADDER. HANGERE. PLATE Lididsr 1
GOBI LADDER. MOUNTING HARDWARE
CONTENTS: J—:i 16-”1831 35 Button head screw BAG #1

. #- 3/16" 85 Flat washers - At 1

- 4 5/16" Nylock nuts Appec o
- 3/8-16 x 1" §S Hex head screw Ladder
2- 3/8" S8 Flat washers
1- 3/8" Nylock nut

CAUTION:

USE ANTI-SEIZE LUBRICANT ON ALL SCREWS

Installation Instructions for GOEI JEEP TJ"TIU REAR LADDER

PartED. GITIL SHEET 2} oF 7




G OBI Intelligent Designs 2000 Coxp.
Denver, Colorado 80211

RACKS wuw, GOBIRACKS.com

GOBIJEEP TJ / TJU WRANGLER REAR LADDER

INSTALLATION INSTRUCTIONS

Remove hanger plate (B) from vour hardware kit and attach as shown in Fig. 1 & Fig. 2 using the hardware
located in Bag #1. Insert one 5/16-18x1" button head screw and small holed washer (B1) up through hanger
plate (B) as shown in Fig. 1 then into roof rack rear ladder support plate (B2). Thread one small holed flat
washer and 5/16" nvlock nut onto screw and snug down in place using a 3/16" Allen wrench and 1/2" box end
wrench. Leave loose enough for adjustment. Apply the same procedure to the second screw (B3).
Temporarily adjust hanger plate (B) to set approximately 2 inches from the rear of the roof rack and 1-3/4"
from the outside edge as indicated in Fig. 2.

Install rear ladder (A) as shown in Fig. 3 in place against the lower ladder support flange (A1) welded to rear
rack support (H) shown in Fig. 4. Insert one 3/3-16x1" hex head screw and large holed flat washer (A2)
from the inside out of support flange (Al) as shown in Fig. 4. Continued on page 4 Fig. 5.

Installation [nstructions for GOBEI JEEF TI'TJU REAR LADDER PARTEO. (ITIL SHEET 3 oF 7




G OB I Intelligent Designs 2000 Corp.

RAGCKS Denver, Colorado 80211

v, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP TJ/ TJU WRANGLER REAR LADDER

INSTALLATION INSTRUCTIONS
Fig. 5

Remove one 5/16" nylock mut and large holed flat Remove from Bag #1 one 5/16-18x1" button head
washer from Bag #1 and thread onto the 3/8-16x1" SEIEW and small holed flat washer (B1) and msert
hex head screw (B2).  Finger tighten only at this into the front upper mount hole of ladder (A) as
o ) shown then mto hanger plate (B).

Fig. 8

Remove from Bag #1 one 5/16" nylock nut and small Adjust top of ladder (A) and hanger
holed flat washer and thread onto the back of screw piate (B) I‘ighi’ or left until the tnp of the

(Ellansowe oo w108 Sl ladder is level with the roof rack as
wrench and 1/2" box wrench. Leave loose enough .
shown by the red lines.

for adustment.  Apply the same procedure to the
second hole (B4).

Installation Instructions for GORBI JEEP TI"TIU REAR L ADDER FaRIWO. ITIL sHEET 4 oF 7




G OB I Intelligent Designs 2000 Corp.

RAGCKS Denver, Colorado 80211

v, GOBIRACKS.com
GENUINE ACCESSORIES

GOBIJEEP TJ/TJU WRANGLER REAR LADDER
INSTALLATION INSTRUCTIONS

Adjust hanger plate (B) so that it is aligned with the rear of roof rack (D) and spaced
approximately 2 inches from the rear of the roof rack as shown in Fig. 9 and Fig. 10.
Then fully tighten hanger plate (B) in place using a 3/16" Allen wrench and 1/2" box
end wrench.

Fully tighten both upper ladder screws Pull the base of ladder (A) rearward as
(B1) using a 3/16" Allen wrench and

1/2" box end wrench.

shown by the red arrow then fully
tighten ladder base mount screw (B2)
using two 9/16" box end wrenches.

Installation Instructions for GOBI JEEP TI'TJU REAR LADDER parrwo. GITIL SHEET § oF 7

.




G OBI Intelligent Dezigne 2000 Coxp.
Denver, Colorado 80211
HALHAS www. GCOBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP TJ/ TJU WRANGLER REAR LADDER
INSTALLATION INSTRUCTIONS

Fig. 13

Correctly adjusted Gobi TI/TIU
ladder driver side rear outside
View

Correctly adjusted Gobi TJ/TJU
ladder driver side rear view

Installation Instructions for GOBI JEEP TJ/'TJU REAR LADDER FaEIND. GITIL SHEET @ oF 7




OBl

RACHS
GENUINE ACCESSORIES

Intelligent Designe 2000 Coxp.
Denver, Colorado 80211
v, GOBIRACKS.com

GOBI JEEP TJ / TJU WRANGLER REAR LADDER
INSTALLATION INSTRUCTIONS

- Rear hardtop window to

ladder clearance

INSTALLATION COMPLETED

Installation Instructions for

GOBI JEEP TI'TIU REAR L ADDER

PaRTWO. (JTIL SHEET 7 oF 7




	Gobi Jeep TJ-TJU roof rack rear ladder install page 1
	Gobi Jeep TJ-TJU roof rack rear ladder install page 2
	Gobi Jeep TJ-TJU roof rack rear ladder install page 3
	Gobi Jeep TJ-TJU roof rack rear ladder install page 4
	Gobi Jeep TJ-TJU roof rack rear ladder install page 5
	Gobi Jeep TJ-TJU roof rack rear ladder install page 6
	Gobi Jeep TJ-TJU roof rack rear ladder install page 7

